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1) K R RETA47~83C, KB T4.8~11. ICOHEPHICH -7,
2) i 4y #ET30.2~32.7, EJET317~32.8 ODHEIZH 7,

3) pH:8.2~8.4 TH YV, KEMAKEEZZ L T,

4) COD ({LFMIMEFEERE) :0.2~1.2mg/L OHFMAICH Y, FEHMENB D

FLYE I 72 LT,
5) D0 (EfFleFaE) 8. 4~11.2mg/L O#FIHIZH 0, FEIIH - L T\,
6) MHEEEE  FHEBIXUTOHENICH - 7=,

U UmERE ) v (POL-P) 11~ 79ug/L
TrE=TRREHR (NH,-N) 4~ 133 g/L
AR AR = (NOL,-N) 1~ 13pg/L
A REZ= R (NOs-N) <1~ 79ug/L

7) SS (FEWME) 1 mg/L K~ 26mg/L OFFHIZH > -,

P (3B) AR
af pH 7.8~8.4
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M| RERE [E | KIE | #24 | pH COoD DO [ &aF1E PO4-P | NHA-N [ NO2-N | NO3-N | SS | 3B BB

AKiEm| (m) | (C) (mg/L) [(mg/L)[ (%) |Cug/L|(ug/D|(ug/)|(pug/L)|(mg/L)| (m)

1] 9:40 8.3 32.1] 8.2 .2 9.2 96. 0 79 133 12 79 8 3.5
5.5 | 5.0 8.3 32.5] 8.2 0.5 9.3 97.6 40 45 8 37

2| 9:30 0 8.0/ 32.4| 8.2 0.4 9.7 101. 4 44 46 8 41 10 2.5
6.0 | 5.5 8.2] 32.6| 8.2 0.2] 10.0 104. 1 39 38 8 35

3] 9:25 0 8.1 32.5] 8.2 0.4/ 9.8 102.2 39 35 8 36 26 2.5

2.5 | 2.0 8.1| 32.5| 8.2 0.3 9.9 102.9 39 36 8 38 JEAT &

4f 9:49 0 6.9 32.5] 8.3 0.4 10.5 106. 4 25 13 5 18 10 2.0

2.0 | 1.5 6.8 32.5] 8.3 0.3] 10.7 108.3 24 15 4 16 JEAT X

5| 9:54 0 5.0/ 31.7| 8.4 0.4 11.1 107.7 15 9 2 3 10 2.0

2.0 1.5 6.2] 32.4| 8.4 0.4] 11.2 111.5 17 12 2 5 JEAT &

6 9:19 0 7.8 32.7 8.3 0.3] 10.1 104. 6 22 14 6 19 8 6.0
7.5 | 7.0 7.7 32.8/ 8.3 0.2] 10.0 104. 0 19 13 5 12

7| 8:58 0 8.1 32.6] 8.3 0.3 9.7 101.3 16 9 6 9 4 3.5

3.5 | 3.0 8.0/ 32.7] 8.3 0.3 9.8 102. 1 17 12 7 10 JEAT &

8l 9:06 0 5.6 32.2| 8.4 0.4 10.9 107. 4 17 8 2 2 6 3.0

3.0 | 2.5 6.0 32.4| 8.4 0.5| 11.0 109.5 16 8 3 4 JEAT =

9[10:00 0 6.1| 32.4| 8.4 0.4| 10.9 108. 3 16 8 3 4 4 3.0

3.0 | 2.5 6.8] 32.6| 8.4 0.3] 10.8 109. 4 19 11 4 8 JEAT &

10| 8:06 0 4.8 31.8] 8.4 0.6 11.0 106.3 16 4 1 <1 8 2.0

2.0 1.5 4.8| 31.8| 8.4 0.6 11.1 106. 4 15 10 2 1 JE T &

11| 8:11 0 4.9/ 31.8] 8.4 0.5 11.0 105.8 18 10 1 <1 6 2.5

2.5 [ 2.0 5.3 32.0] 8.4 0.5 10.9 106.3 17 11 2 1 JE &

12] 8:18 0 5.6/ 31.9] 8.3 0.5| 10.5 102.9 16 7 1 <1 12 3.5

3.5 | 3.0 6.8 32.7| 8.3 0.5] 10.4 105.2 15 7 3 4 JEAT &

13| 8:24 0 4.7| 30.9| 8.4 0.6| 10.9 104.5 18 13 3 24 4 3.0

3.0 | 2.5 5.5/ 31.9] 8.4 0.6/ 10.8 105.3 15 6 1 <1 JEAfT X

14| 9:11 0 7.5 32.7 8.3 0.3 10.1 104.6 23 16 6 16 0 5.0
6.5 | 6.0 7.3 32.6/ 8.3 0.5 10.4 106. 7 21 13 5 14

15| 9:34 0 8.2 32.3] 8.2 0.3 9.3 97.2 41 48 7 41 14 4.5

4.5 | 4.0 8.3] 32.5| 8.2 0.3 9.3 98.0 35 42 7 35 JEAF =

16| 8:46 0 5.1 31.7| 8.4 0.6| 10.9 105. 3 11 6 1 <1 8 2.0

2.0 1.5 5.1/ 31.7] 8.4 0.6| 11.0 106. 3 11 7 1 <1 JEAT X

18] 8:30 0 6.9/ 31.7] 8.3 0.4 10.0 101.3 13 16 5 6 10 2.5

2.5 | 2.0 6.7 31.8] 8.3 0.2] 10.2 102.2 13 16 4 6 T X

19[ 8:38 0 7.7 30.2| 8.3 0.4 9.5 96. 6 17 24 8 19 6 3.5
4.0 | 3.5 11.1] 32.6] 8.2 0.4 8.4 94.0 20 30 13 19
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